Logarithmic Functions
A logarithmic function is the inverse of an exponential function.  An inverse means we solve the equation for x.

For example, the inverse of y = 2
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 (y equals 2 to the x power) is x = 2
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 (x equals 2 to the y power).  This, in turn, is equal to y = log
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x (logarithm to the base 2 of x).

The first graph below shows y = log
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x.  The second graph shows the comparison of the graphs of y = 2
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(the curve on top) and y = log
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x (the curve underneath).  In the second graph, you can see that the curves are mirror images of each other, flipped around an imaginary line (called the inversion line).
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